

Positivity 11 (2007), 433–447  
 © 2007 Birkhäuser Verlag Basel/Switzerland  
 1385-1292/030433-15  
 DOI 10.1007/s11117-007-2085-7

Positivity

# Ratio Tauberian Theorems for Positive Functions and Sequences in Banach Lattices

Yuan-Chuan Li, Ryotaro Sato and Sen-Yen Shaw

**Abstract.** We prove two ratio Tauberian theorems and deduce two generalized Tauberian theorems for functions and sequences with values in positive cones of Banach lattices. Two counter-examples are given to show that the hypotheses in the ratio Tauberian theorems are essential.

**Mathematics Subject Classification (2000).** 40E05, 40G05; 47A35; 47D06.

**Keywords.** Cesàro limit, Abel limit, ratio limit theorem, ratio Tauberian theorem, generalized Tauberian theorem.

## 1. Introduction

Let  $X$  be a Banach space, and  $u(\cdot) : [0, \infty) \rightarrow X$  be a locally integrable function. It is well known that the existence of the Cesàro limit  $y := \lim_{t \rightarrow \infty} t^{-1} \int_0^t u(s) ds$  implies that the Abel limit  $\lim_{\lambda \downarrow 0} \lambda \int_0^\infty e^{-\lambda t} u(t) dt$  also exists and equals  $y$ . Similarly, if for

a sequence  $\{x_n\}_{n=0}^\infty \subset X$  the Cesàro limit  $y := \lim_{n \rightarrow \infty} n^{-1} \sum_{k=0}^{n-1} x_k$  exists, then the Abel limit  $\lim_{r \uparrow 1} (1-r) \sum_{n=0}^\infty r^n x_n = y$ . More generally, Sato [8, Theorems 1 and 3] proved the following ratio limit theorem.

**Proposition 1.1.** *If  $\int_0^\infty e^{-\lambda t} u(t) dt$  (resp.  $\sum_{n=0}^\infty r^n x_n$ ) converges absolutely for all  $\lambda > 0$  (resp.  $0 < r < 1$ ) and  $g$  is a nonnegative function (resp.  $\{a_n\}_{n=0}^\infty$  is a sequence of non-negative real numbers), with  $\int_0^\infty g(t) dt > 0$  (resp.  $\sum_{n=0}^\infty a_n > 0$ ), then the existence of the limit*

$$\lim_{t \rightarrow \infty} \left( \int_0^t u(s) ds \right) / \left( \int_0^t g(s) ds \right) \left( \text{resp. } \lim_{n \rightarrow \infty} \left( \sum_{k=0}^n x_k \right) / \left( \sum_{k=0}^n a_k \right) \right) = x \quad (1)$$

implies

$$\lim_{\lambda \downarrow 0} \left( \int_0^\infty e^{-\lambda t} u(t) dt \right) / \left( \int_0^\infty e^{-\lambda t} g(t) dt \right) \\ \left( \text{resp. } \lim_{r \uparrow 1} \left( \sum_{k=0}^\infty r^k x_k \right) / \left( \sum_{k=0}^\infty r^k a_k \right) \right) = x. \tag{2}$$

In general, the existence of the Abel limit does not guarantee the existence of the Cesàro limit (see [2, p. 8] or [6] for examples). The Tauberian theorem of Hardy and Littlewood asserts that if  $u(\cdot)$  (resp.  $\{x_n\}_{n=0}^\infty$ ) is bounded, or is positive in a Banach lattice, then the existence of the Abel limit also implies the existence of the Cesàro limit, and the two limits coincide (cf. [3], [2, Theorem 3.3], [6]). In view of this Tauberian theorem, one would ask whether (2) implies (1) for a bounded sequence  $\{x_n\}_{n=0}^\infty$  in a Banach space or a positive sequence  $\{x_n\}_{n=0}^\infty$  in a Banach lattice. As we will see in two examples to be given in Section 5, the answers for both cases are negative. In order to establish a ratio Tauberian theorem for a positive sequence  $\{x_n\}$ , some suitable conditions on the sequence  $\{a_n\}$  are needed.

The purpose of this paper is to formulate ratio Tauberian theorems for positive functions and sequences in Banach lattices. We will prove in Section 3 both continuous version and discrete version of such ratio Tauberian theorems (see Theorem 3.2, Corollary 3.3, Theorem 3.4). From them we also deduce that, for Banach space valued functions (resp. sequences) which are bounded relatively to the positive function  $g$  (resp. sequence  $\{a_n\}$ ) in the denominator, the assertions of the ratio Tauberian theorems hold in the sense of weak limit (see Remark (i) after Theorem 3.4). It is unknown whether they hold in the strong sense. From the ratio Tauberian theorems we can deduce generalized Tauberian theorems (Theorems 4.1 and 4.2). For need in the proofs of the ratio Tauberian theorems, we first prove in Section 2 an auxiliary convergence lemma. To show that the positivity of  $\{x_n\}$  and the two conditions (D1) and (D2) are essential in Theorem 3.4, two counter-examples will be given in Section 5.

## 2. A Convergence Lemma

We first prove the following lemma which generalizes Lemma 4.1 of [6] and forms the basis of the whole arguments in the main results in Section 3.

**Lemma 2.1.** *Suppose  $X$  and  $Y$  are two Banach lattices and  $W$  is a Banach sublattice of  $Y$ . Let  $E$  be a subset of  $W$  and let  $\{\mathcal{F}_\alpha\}$  and  $\{\mathcal{G}_\alpha\}$  be two nets of positive linear operators from  $W$  to  $X$  such that the net  $\{(\mathcal{F}_\alpha - \mathcal{G}_\alpha)|_{\overline{\text{span}} E}\}$  is uniformly bounded and such that*

$$\lim_\alpha [\mathcal{F}_\alpha(u) - \mathcal{G}_\alpha(u)] = 0 \tag{3}$$

for all  $u \in E$ . If a vector  $w \in W$  has the property that there are two sequences  $\{u_n\}_{n=1}^\infty$  and  $\{v_n\}_{n=1}^\infty$  in  $\overline{\text{span}}E$  such that  $u_n \leq w \leq v_n$  for all  $n \geq 1$  and

$$\limsup_\alpha \|\mathcal{G}_\alpha(v_n - u_n)\| \rightarrow 0 \text{ as } n \rightarrow \infty, \tag{4}$$

then  $\lim_\alpha [\mathcal{F}_\alpha(w) - \mathcal{G}_\alpha(w)] = 0$ .

*Proof.* For the assumed  $w \in W$  and  $\{u_n\}, \{v_n\} \in \overline{\text{span}}E$ , we have for every  $n = 1, 2, \dots$  and for every  $\alpha$

$$\mathcal{G}_\alpha(u_n) \leq \mathcal{G}_\alpha(w) \leq \mathcal{G}_\alpha(v_n),$$

and so

$$\begin{aligned} \mathcal{G}_\alpha(u_n) - \mathcal{F}_\alpha(v_n) &\leq \mathcal{G}_\alpha(w) - \mathcal{F}_\alpha(v_n) \leq \mathcal{G}_\alpha(w) \\ &\quad - \mathcal{F}_\alpha(w) \leq \mathcal{G}_\alpha(v_n) - \mathcal{F}_\alpha(w) \leq \mathcal{G}_\alpha(v_n) - \mathcal{F}_\alpha(u_n). \end{aligned}$$

Therefore we have for every  $n = 1, 2, \dots$  and for every  $\alpha$

$$\begin{aligned} &\|\mathcal{G}_\alpha(w) - \mathcal{F}_\alpha(w)\| \\ &\leq \|\mathcal{G}_\alpha(u_n) - \mathcal{F}_\alpha(v_n)\| + \|\mathcal{G}_\alpha(v_n) - \mathcal{F}_\alpha(u_n)\| \\ &\leq \|\mathcal{G}_\alpha(u_n - v_n)\| + \|\mathcal{G}_\alpha(v_n) - \mathcal{F}_\alpha(v_n)\| + \|\mathcal{G}_\alpha(v_n - u_n)\| + \|\mathcal{G}_\alpha(u_n) - \mathcal{F}_\alpha(u_n)\| \\ &= 2\|\mathcal{G}_\alpha(u_n - v_n)\| + \|\mathcal{G}_\alpha(v_n) - \mathcal{F}_\alpha(v_n)\| + \|\mathcal{G}_\alpha(u_n) - \mathcal{F}_\alpha(u_n)\|. \end{aligned}$$

The uniform boundedness of  $\{\mathcal{F}_\alpha - \mathcal{G}_\alpha\}$  on  $\overline{\text{span}}E$  implies that (3) holds for all  $u \in \overline{\text{span}}E$ . It follows from this and (4) that

$$\begin{aligned} &\limsup_\alpha \|\mathcal{G}_\alpha(w) - \mathcal{F}_\alpha(w)\| \\ &\leq \limsup_\alpha [2\|\mathcal{G}_\alpha(u_n - v_n)\| + \|\mathcal{G}_\alpha(v_n) - \mathcal{F}_\alpha(v_n)\| + \|\mathcal{G}_\alpha(u_n) - \mathcal{F}_\alpha(u_n)\|] \\ &\leq 2 \limsup_\alpha \|\mathcal{G}_\alpha(u_n - v_n)\| + 0 + 0 \rightarrow 0 \text{ as } n \rightarrow \infty. \end{aligned}$$

This shows that  $\lim_\alpha [\mathcal{F}_\alpha(w) - \mathcal{G}_\alpha(w)] = 0$ . This completes the proof. □

For the special case  $Y := L^\infty$ , Lemma 2.1 leads to the following two corollaries. The following one is also proved directly in [6, Lemma 4.1].

**Corollary 2.2.** *Let  $\Omega$  be a nonempty Lebesgue measurable subset of a Euclidean space  $R^r$ ,  $\mathcal{B}(\Omega)$  be the  $\sigma$ -field of all Lebesgue measurable sets in  $\Omega$ , and  $m$  be Lebesgue measure on  $R^r$ . Let  $X$  be a Banach lattice, let  $E$  be a subset of  $L^\infty(\Omega)$  which contains 1, and let  $W$  be a Banach sub-lattice of  $L^\infty(\Omega)$  which contains  $E$ . Let  $\{\mathcal{F}_\alpha\}$  be a net of positive linear operators from  $W$  to  $X$  and  $\mathcal{F}$  be a positive linear operator from  $W$  to  $X$  such that*

$$\lim_\alpha \mathcal{F}_\alpha(u) = \mathcal{F}(u)$$

for all  $u \in E$ . If a function  $w \in W$  has the property that there are two bounded sequences  $\{u_n\}_{n=1}^\infty$  and  $\{v_n\}_{n=1}^\infty$  in  $\overline{\text{span}}E$  such that

$$u_n \nearrow w \text{ and } v_n \searrow w \text{ a.e.}[m] \text{ and } \|\mathcal{F}(v_n - u_n)\| \rightarrow 0,$$

then  $\lim_{\alpha} \mathcal{F}_{\alpha}(w) = \mathcal{F}(w)$ .

*Proof.* Since each  $\mathcal{F}_{\alpha}$  is positive and  $1 \in E \subset W$ , we have

$$-\|w\|_{\infty} \mathcal{F}_{\alpha}(1) = \mathcal{F}_{\alpha}(-\|w\|_{\infty}) \leq \mathcal{F}_{\alpha}(w) \leq \mathcal{F}_{\alpha}(\|w\|_{\infty}) = \|w\|_{\infty} \mathcal{F}_{\alpha}(1),$$

so that  $\|\mathcal{F}_{\alpha}(w)\| \leq \|\mathcal{F}_{\alpha}(1)\| \|w\|_{\infty}$  for all  $w \in W$ , which implies  $\|\mathcal{F}_{\alpha}\| = \|\mathcal{F}_{\alpha}(1)\|$ . Similarly,  $\|\mathcal{F}\| = \|\mathcal{F}(1)\|$ . By assumption we have  $\lim_{\alpha} \mathcal{F}_{\alpha}(1) = \mathcal{F}(1)$ , which implies that the operators  $\mathcal{F}_{\alpha}$  are uniformly bounded. The result follows from Lemma 2.1 by taking  $Y := L^{\infty}(\Omega, \mathcal{B}(R), m)$ ,  $\mathcal{G}_{\alpha} \equiv \mathcal{F}$  for all  $\alpha$ .  $\square$

The next corollary will be needed in Section 3.

**Corollary 2.3.** *Let  $X$  be a Banach lattice and let  $E$  be a subset of  $C[0, 1]$  such that the linear span  $\text{span}E$  of  $E$  is dense in  $C[0, 1]$ . Suppose  $W$  is a Banach sub-lattice of  $L^{\infty}[0, 1]$  which contains  $C[0, 1]$ . Let  $\{\mathcal{F}_{\alpha}\}$  and  $\{\mathcal{G}_{\alpha}\}$  be two uniformly bounded nets of positive linear operators from  $W$  to  $X$  such that  $\lim_{n \rightarrow \infty} [\mathcal{F}_{\alpha}(u) - \mathcal{G}_{\alpha}(u)] = 0$  for all  $u \in E$ . If  $w \in W$  has the property that there are two sequences  $\{u_n\}$  and  $\{v_n\}$  in  $C[0, 1]$  satisfying  $u_n \leq w \leq v_n$  and  $\limsup_{\alpha} \|\mathcal{G}_{\alpha}(v_n - u_n)\| \rightarrow 0$  as  $n \rightarrow \infty$ , then  $\lim_{\alpha} [\mathcal{F}_{\alpha}(w) - \mathcal{G}_{\alpha}(w)] = 0$ .*

### 3. Ratio Tauberian Theorems

We first prove the following proposition which will be used to deduce continuous and discrete ratio Tauberian theorems.

**Proposition 3.1.** *Let  $X$  be a Banach lattice and let  $h_s(t) := \begin{cases} 0, & 0 \leq t < e^{-s}; \\ t^{-1}, & e^{-s} \leq t \leq 1 \end{cases}$*

*for  $s > 0$ . Let  $E$  be a subset of  $C[0, 1]$  which contains 1 and is such that  $\text{span}E$  is dense in  $C[0, 1]$  and let  $W$  be a Banach sub-lattice of  $L^{\infty}[0, 1]$  which contains  $C[0, 1]$  and the functions  $h_s$ ,  $s > 0$  (for instance,  $W = L^{\infty}[0, 1]$ ). Let  $\{G_n\}$  be a uniformly bounded sequence of positive linear functionals on  $W$  which satisfies the following conditions for some  $s_0 > 0$ :*

- (A1)  $\liminf_{n \rightarrow \infty} G_n(h_{s_0}) > 0$ ;
- (A2)  $\limsup_{n \rightarrow \infty} |G_n(h_{s_0} - h_s)| \rightarrow 0$  as  $s \rightarrow s_0$ .

*If  $\{\mathcal{F}_n\}$  is a uniformly bounded sequence of positive linear operators from  $W$  into  $X$  such that  $\lim_{n \rightarrow \infty} \frac{\mathcal{F}_n(u)}{G_n(u)} = x$  for some  $x \in X$  and all  $u \in E$ , then  $\lim_{n \rightarrow \infty} \frac{\mathcal{F}_n(h_{s_0})}{G_n(h_{s_0})} = x$ .*

*Proof.* Since  $\{\mathcal{F}_n\}$  and  $\{G_n\}$  are positive and  $1 \in E$ , the assumption implies  $x$  is a positive element of  $X$ . Define positive operators  $\mathcal{G}_n : W \rightarrow X$  by  $\mathcal{G}_n(u) := G_n(u)x, u \in W$ . Since  $\{G_n\}$  is uniformly bounded, it follows from  $\lim_{n \rightarrow \infty} \frac{\mathcal{F}_n(u)}{G_n(u)} = x$

for all  $u \in E$  that  $\|\mathcal{F}_n(u) - \mathcal{G}_n(u)\| \leq |G_n(u)|\|\mathcal{F}_n(u)/G_n(u) - x\| \rightarrow 0$  for all  $u \in E$ .

Now, let  $\{s_n\}$  and  $\{s'_n\}$  be two sequences of positive numbers such that  $s_n \nearrow s_0$  and  $s'_n \searrow s_0$ . We define for every  $n = 1, 2, \dots$  two functions  $u_n$  and  $v_n$  by

$$v_n(t) := \begin{cases} 0, & 0 \leq t < e^{-s'_n}; \\ \frac{e^{s_0}}{e^{-s_0} - e^{-s'_n}}(t - e^{-s'_n}) & e^{-s'_n} \leq t \leq e^{-s_0} \\ t^{-1}, & e^{-s_0} \leq t \leq 1 \end{cases}$$

and

$$u_n(t) := \begin{cases} 0, & 0 \leq t < e^{-s_0}; \\ \frac{e^{s_n}}{e^{-s_n} - e^{-s_0}}(t - e^{-s_0}) & e^{-s_0} \leq t \leq e^{-s_n} \\ t^{-1}, & e^{-s_n} \leq t \leq 1. \end{cases}$$

Then we have for every  $n = 1, 2, \dots$   $u_n, v_n \in C[0, 1]$  and

$$h_{s_n} \leq u_n \leq h_{s_0} \leq v_n \leq h_{s'_n}.$$

It follows from the positivity of  $\mathcal{G}_n$  and condition (A2) that

$$\begin{aligned} \limsup_{n \rightarrow \infty} \|\mathcal{G}_n(v_m - u_m)\| &\leq \limsup_{n \rightarrow \infty} \|\mathcal{G}_n(h_{s'_m} - h_{s_m})\| \\ &\leq \limsup_{n \rightarrow \infty} |G_n(h_{s'_m} - h_{s_m})| \|x\| \rightarrow 0 \end{aligned}$$

as  $m \rightarrow \infty$ . Since  $\{\mathcal{G}_n\}$  is uniformly bounded, it follows from Corollary 2.3 that  $\|\mathcal{F}_n(h_{s_0}) - G_n(h_{s_0})x\| \rightarrow 0$  as  $n \rightarrow \infty$ . This and the assumption (A1) imply that  $\lim_{n \rightarrow \infty} \frac{\mathcal{F}_n(h_{s_0})}{G_n(h_{s_0})} = x$ . This completes the proof.  $\square$

*Remark.* Proposition 3.1 also holds for nets  $\{\mathcal{F}_\lambda\}, \{G_\lambda\}$  of operators.

We can deduce from Proposition 3.1 the following ratio Tauberian theorem for positive functions.

**Theorem 3.2.** *Let  $\mu$  be a positive measure on  $[0, \infty)$  satisfying  $\mu[0, \infty) > 0$  and the two conditions:*

$$\liminf_{\lambda \downarrow 0} (\mu[0, s_0/\lambda]) / \left( \int_0^\infty e^{-\lambda t} d\mu(t) \right) > 0 \text{ for some } s_0 > 0; \tag{C1}$$

$$(\mu[0, t]) / (\mu[0, s]) \rightarrow 1 \text{ as } t, s \rightarrow \infty \text{ with } t/s \rightarrow 1. \tag{C2}$$

Let  $u(\cdot) : [0, \infty) \rightarrow X_+$  be a strongly measurable positive function in a Banach lattice  $X$  such that  $\int_0^\infty e^{-\lambda t} u(t) dt$  exists for all  $\lambda > 0$ . Then

$$x = \lim_{\lambda \downarrow 0} \left( \int_0^\infty e^{-\lambda t} u(t) dt \right) / \left( \int_0^\infty e^{-\lambda t} d\mu(t) \right)$$

exists if and only if

$$x = \lim_{t \rightarrow \infty} \frac{1}{\mu[0, t]} \int_0^t u(s) ds.$$

*Proof.* Conditions (C1) and (C2) are not needed for the “if” part to hold. We omit its proof, which is essentially the same as that of Proposition 1.1. It remains to show the “only if” part. Define  $G_\lambda(w) = \frac{\int_0^\infty e^{-\lambda t} w(e^{-\lambda t}) d\mu(t)}{\int_0^\infty e^{-\lambda t} d\mu(t)}$  for  $w \in L^\infty[0, 1]$ . It is clear that  $G_\lambda$  is a positive linear functional on  $L^\infty[0, 1]$  with  $\|G_\lambda\| = G_\lambda(1) = 1$ , and  $G_\lambda(h_s) = \frac{\mu[0, s/\lambda]}{\int_0^\infty e^{-\lambda t} d\mu(t)}$ ,  $s > 0$ . Thus (C1) implies that (A1) of Proposition 3.1 (with  $W = L^\infty[0, 1]$ ) holds.

Next, we see that condition (A2) holds. Let  $\varepsilon > 0$  be arbitrary. By the assumption, there is a small  $\delta > 0$  and large  $M > 0$  such that

$$\left| \frac{\mu[0, t]}{\mu[0, s]} - 1 \right| < \varepsilon \text{ for } t, s \text{ such that } s, t > M \text{ and } |t/s - 1| < \delta.$$

For those  $s > 0$  which are so close to  $s_0$  that  $|\frac{s}{s_0} - 1| < \delta$  and for sufficiently small  $\lambda > 0$  we have  $s/\lambda, s_0/\lambda > M$  and  $|(s/\lambda)/(s_0/\lambda) - 1| = |\frac{s}{s_0} - 1| < \delta$ , so that

$$\left| \frac{G_\lambda(h_s)}{G_\lambda(h_{s_0})} - 1 \right| = \left| \frac{\mu[0, s/\lambda]}{\mu[0, s_0/\lambda]} - 1 \right| < \varepsilon.$$

Then  $|G_\lambda(h_s) - G_\lambda(h_{s_0})| < \varepsilon G_\lambda(h_{s_0}) \leq \varepsilon \|h_{s_0}\|_\infty$  for small enough  $\lambda$ . This implies that  $\limsup_{\lambda \rightarrow 0} |G_\lambda(h_s - h_{s_0})| \leq \varepsilon \|h_{s_0}\|_\infty$  for  $s$  close enough to  $s_0$ , i.e., (A2) in Proposition 3.1 holds.

Let  $\mathcal{F}_\lambda(w) = \frac{\int_0^\infty e^{-\lambda t} w(e^{-\lambda t}) w(t) dt}{\int_0^\infty e^{-\lambda t} d\mu(t)}$  for  $w \in L^\infty[0, 1]$ . Then  $\mathcal{F}_\lambda$  is a positive linear operator from  $L^\infty[0, 1]$  to  $X$  with  $\|\mathcal{F}_\lambda\| = \|\mathcal{F}_\lambda(1)\| = \left\| \frac{\int_0^\infty e^{-\lambda t} u(t) dt}{\int_0^\infty e^{-\lambda t} d\mu(t)} \right\|$  (see the proof of Corollary 2.2), which tends to  $\|x\|$  as  $\lambda \downarrow 0$ . It follows that the net  $\{\mathcal{F}_\lambda\}_{\lambda \downarrow 0}$  is uniformly bounded.

Let  $E := \{t^n; n \geq 0\}$ . Since

$$\lim_{\lambda \downarrow 0} \frac{\mathcal{F}_\lambda(t^n)}{G_\lambda(t^n)} = \lim_{\lambda \downarrow 0} \frac{\int_0^\infty e^{-(n+1)\lambda t} u(t) dt}{\int_0^\infty e^{-(n+1)\lambda t} d\mu(t)} = x$$

for all  $n \geq 0$ , and since  $\text{span}E$  is the set of all polynomials which is dense in  $C[0, 1]$ , we can apply Proposition 3.1 (with  $W = L^\infty[0, 1]$ ) to conclude that

$$\frac{\int_0^{s_0/\lambda} u(t) dt}{\mu[0, s_0/\lambda]} = \frac{\mathcal{F}_\lambda(h_{s_0})}{G_\lambda(h_{s_0})} \rightarrow x \text{ as } \lambda \downarrow 0.$$

This proves the “only if” part. □

*Remark.* (i) If  $0 < K := \lim_{\lambda \downarrow 0} \lambda \int_0^\infty e^{-\lambda t} d\mu(t) < \infty$ , then by the Tauberian theorem of Hardy and Littlewood,  $\lim_{t \rightarrow \infty} t^{-1} \int_0^t d\mu(r) = K$ , so that conditions (C1) (with any  $s_0 > 0$ ) and (C2) are satisfied. In this case, the conclusion of Theorem 3.2 also follows directly from the Tauberian theorem of Hardy and Littlewood together with Proposition 1.1; furthermore, we note that this also holds for a locally integrable function  $u(\cdot) : [0, \infty) \rightarrow X$ , with  $X$  a general Banach space, when  $u(\cdot)$  is bounded.

(ii) A similar proof shows that Theorem 3.2 still holds when  $t \rightarrow \infty$ ,  $s \rightarrow \infty$ , and  $\lambda \downarrow 0$  are replaced by  $t \rightarrow 0$ ,  $s \rightarrow 0$ , and  $\lambda \rightarrow \infty$ , respectively.

If  $g$  is a nonnegative function, with  $\int_0^\infty g(t)dt > 0$ , then with the measure  $\mu$  defined as  $\mu(\Omega) := \int_\Omega g(t)dt$ , Theorem 3.2 becomes the following ratio Tauberian theorem.

**Corollary 3.3.** *Let  $g$  be a nonnegative function satisfying  $\int_0^\infty g(t)dt > 0$  and the two conditions:*

$$\liminf_{\lambda \downarrow 0} \left( \int_0^{\frac{s_0}{\lambda}} g(t)dt \right) / \left( \int_0^\infty e^{-\lambda t} g(t)dt \right) > 0 \text{ for some } s_0 > 0; \tag{C1'}$$

$$\left( \int_0^t g(r)dr \right) / \left( \int_0^s g(r)dr \right) \rightarrow 1 \text{ as } t, s \rightarrow \infty \text{ with } \frac{t}{s} \rightarrow 1. \tag{C2'}$$

Let  $u(\cdot) : [0, \infty) \rightarrow X_+$  be a strongly measurable positive function in a Banach lattice  $X$  such that  $\int_0^\infty e^{-\lambda t} u(t)dt$  exists for all  $\lambda > 0$ . Then

$$x = \lim_{\lambda \downarrow 0} \left( \int_0^\infty e^{-\lambda t} u(t)dt \right) / \left( \int_0^\infty e^{-\lambda t} g(t)dt \right)$$

exists if and only if

$$x = \lim_{t \rightarrow \infty} \left( \int_0^t u(s)ds \right) / \left( \int_0^t g(s)ds \right).$$

*Remark.* If  $g$  is a bounded nonnegative function such that

$$K := \liminf_{t \rightarrow \infty} \frac{1}{t} \int_0^t g(r)dr > 0, \tag{5}$$

then conditions (C1') and (C2') hold. In fact, we have

$$\liminf_{\lambda \downarrow 0} \left( \int_0^{\frac{s_0}{\lambda}} g(t)dt \right) / \left( \int_0^\infty e^{-\lambda t} g(t)dt \right) \geq \frac{K}{\|g\|_\infty} s_0 > 0 \text{ for all } s_0 > 0$$

and for sufficiently large  $s$  and  $t > s$

$$\left| \left( \int_0^t g(r)dr \right) / \left( \int_0^s g(r)dr \right) - 1 \right| \leq \frac{2}{K} \frac{t-s}{s} \|g\|_\infty \rightarrow 0 \text{ as } t, s \rightarrow \infty \text{ with } \frac{t}{s} \rightarrow 1.$$

Let  $W$  be the Banach sub-lattice of  $L^\infty[0, 1]$  consisting of all right-continuous bounded functions  $u : [0, 1] \rightarrow R$  which are also continuous at the point 1. Suppose  $\{x_n\}$  is a sequence of positive elements in a Banach lattice  $X$  and  $\{a_n\}$  is a sequence of positive numbers such that  $\sum_{n=0}^\infty r^n a_n < \infty$  for all  $0 < r < 1$  and

$\sum_{n=0}^\infty a_n > 0$ . Define linear operators  $\mathcal{F}_r$  and linear functionals  $G_r$  on  $W$  by

$$\mathcal{F}_r(u) := \left( \sum_{n=0}^\infty r^n u(r^n) x_n \right) / \left( \sum_{n=0}^\infty r^n a_n \right)$$

and

$$G_r(u) := \left( \sum_{n=0}^{\infty} r^n u(r^n) a_n \right) / \left( \sum_{n=0}^{\infty} r^n a_n \right)$$

for  $u \in W$  and for those  $0 < r < 1$  for which the definitions are well-defined. Then

$$\mathcal{F}_r(h_{s_0}) = \left( \sum_{n=0}^{[-s_0/\ln r]} x_n \right) / \left( \sum_{n=0}^{\infty} r^n a_n \right)$$

and

$$G_r(h_{s_0}) = \left( \sum_{n=0}^{[-s_0/\ln r]} a_n \right) / \left( \sum_{n=0}^{\infty} r^n a_n \right),$$

where  $[-s_0/\ln r]$  denotes the largest integer less than or equal to  $-s_0/\ln r$ . By arguments similar to those in the proof of Theorem 3.2 we can deduce from Proposition 1.1 and Proposition 3.1 the following ratio Tauberian theorem for positive sequences in Banach lattices.

**Theorem 3.4.** *Let  $\{a_n\}$  be a sequence of nonnegative numbers such that  $\sum_{n=0}^{\infty} a_n > 0$ .*

*Suppose  $\{a_n\}$  satisfies:*

$$\liminf_{r \uparrow 1} \left( \sum_{n=0}^{[-s_0/\ln r]} a_n \right) / \left( \sum_{n=0}^{\infty} r^n a_n \right) > 0 \text{ for some } s_0 > 0; \tag{D1}$$

$$\left( \sum_{k=0}^m a_k \right) / \left( \sum_{k=0}^n a_k \right) \rightarrow 1 \text{ as } m, n \rightarrow \infty \text{ with } \frac{m}{n} \rightarrow 1. \tag{D2}$$

*Let  $\{x_n\}$  be a sequence of positive elements in a Banach lattice  $X$  such that  $\sum_{n=0}^{\infty} r^n x_n$  exists for all  $0 < r < 1$ . Then*

$$x = \lim_{r \uparrow 1} \left( \sum_{n=0}^{\infty} r^n x_n \right) / \left( \sum_{n=0}^{\infty} r^n a_n \right) \text{ exists if and only if } x = \lim_{n \rightarrow \infty} \left( \sum_{k=0}^n x_k \right) / \left( \sum_{k=0}^n a_k \right).$$

*Remarks.* (i) Let  $\{a_n\}$  be as in Theorem 3.4, and  $\{x_n\}$  be a sequence in a general Banach space  $X$  such that  $\sum_{n=0}^{\infty} r^n x_n$  exists for all  $0 < r < 1$  and



$\sup_{n \geq 0} \|x_n\|/a_n < \infty$  (we let  $0/0 = 1$ ). Then the following weak-type result holds:

$$\begin{aligned} x &= \text{weak-}\lim_{r \uparrow 1} \left( \sum_{n=0}^{\infty} r^n x_n \right) / \left( \sum_{n=0}^{\infty} r^n a_n \right) \\ &\implies x = \text{weak-}\lim_{n \rightarrow \infty} \left( \sum_{k=0}^n x_k \right) / \left( \sum_{k=0}^n a_k \right). \end{aligned}$$

For, if  $\{x_n\}$  is a sequence of real numbers, then, considering the sequence  $\{x_n + Ca_n\}$  for some large enough constant  $C > 0$ , we may assume that  $x_n + Ca_n \geq 0$  for all  $n \geq 0$ . Since we have that

$$x = \text{weak-}\lim_{r \uparrow 1} \left( \sum_{n=0}^{\infty} r^n x_n \right) / \left( \sum_{n=0}^{\infty} r^n a_n \right)$$

exists if and only if

$$x + C = \text{weak-}\lim_{r \uparrow 1} \left( \sum_{n=0}^{\infty} r^n (x_n + Ca_n) \right) / \left( \sum_{n=0}^{\infty} r^n a_n \right),$$

it follows from Theorem 3.4 that the assertion holds. Since for a sequence  $\{b_n\}$  of complex numbers we have  $\lim_{n \rightarrow \infty} b_n$  exists if and only if both  $\lim_{n \rightarrow \infty} \text{Re}(b_n)$  and  $\lim_{n \rightarrow \infty} \text{Im}(b_n)$  exist, from the above real case together with a standard argument the general case follows easily. The same assertion also holds for the continuous case.

- (ii) If the sequence  $\{a_n\}$  in Theorem 3.4 satisfies  $\sum_{n=0}^{\infty} a_n < \infty$ , then clearly conditions (D1) (with any  $s_0 > 0$ ) and (D2) are satisfied automatically, and one can directly see that both limits in the conclusion of Theorem 3.4 are equal to  $(\sum_{n=0}^{\infty} x_n)/(\sum_{n=0}^{\infty} a_n)$ , when either  $\{x_n\}$  is a positive sequence in a Banach lattice such that  $\sum_{n=0}^{\infty} x_n$  converges, or when  $\{x_n\}$  is a sequence in a general Banach space satisfying  $\sup_{n \geq 0} \|x_n\|/a_n < \infty$ .
- (iii) Discrete analogs of Remark (i) after Theorem 3.2 and the Remark after Corollary 3.3 also hold. In particular, here is an example of sequence  $\{a_n\}$  of nonnegative real numbers which is bounded and satisfies the discrete counterpart of condition (5), and hence satisfies conditions (D1) and (D2).

*Example 1.* Let  $\{k_j\}_{j=1}^{\infty}$  be a strictly increasing sequence of nonnegative integers with positive lower density (i.e.,  $\sup_{j \geq 1} k_j/j < \infty$ ). Define

$$a_n = \begin{cases} 1 & \text{if } n = k_j \text{ for some } j \geq 1, \\ 0 & \text{otherwise.} \end{cases}$$

Then, putting  $K = \liminf_{j \rightarrow \infty} j/k_j (> 0)$ , we have

$$\liminf_{n \rightarrow \infty} \frac{1}{n+1} \sum_{j=0}^n a_j = \liminf_{j \rightarrow \infty} \frac{j}{k_j} = K > 0.$$

Then using the same argument as in the Remark after Corollary 3.3 together with the fact that  $\lim_{r \uparrow 1} (1-r)([-s/\log r] + 1) = s$  one can verify conditions (D1) and (D2). Hence Theorem 3.4 holds for this sequence  $\{a_n\}$ . It is interesting to note that there are many papers treating mean and pointwise ergodic theorems for sequences with positive lower density (e.g., see [1] and [4]; see also Chapter 8 of [5]).

### 4. Generalized Tauberian Theorems

Next, we deduce from Theorem 3.2 the following generalized Tauberian theorem for positive functions.

**Theorem 4.1.** *Let  $\gamma \geq 0$  and  $u(\cdot) : [0, \infty) \rightarrow X_+$  be a strongly measurable positive function such that  $\int_0^\infty e^{-\lambda t} u(t) dt$  exists for all  $\lambda > 0$ . Then  $x = \lim_{\lambda \downarrow 0} \lambda^\gamma \int_0^\infty e^{-\lambda t} u(t) dt$  exists if and only if  $x = \lim_{t \rightarrow \infty} \frac{\Gamma(\gamma+1)}{t^\gamma} \int_0^t u(s) ds$ . The assertion also holds when  $t \rightarrow \infty$  and  $\lambda \downarrow 0$  are replaced by  $t \rightarrow 0$  and  $\lambda \rightarrow \infty$ , respectively.*

*Proof.* For the case  $\gamma > 0$  let  $\mu$  be defined as  $\mu(\Omega) := \int_\Omega g(t) dt$  with  $g(t) := \begin{cases} t^{\gamma-1}/\Gamma(\gamma), & t > 0; \\ 0, & t = 0 \end{cases}$ . Then  $\int_0^\infty e^{-\lambda t} d\mu(t) = 1/\lambda^\gamma$  and  $\mu[0, t] = t^\gamma/\Gamma(\gamma + 1)$ , and (C2) is satisfied. Since

$$\left( \left( \frac{s}{\lambda} \right)^\gamma / \Gamma(\gamma + 1) \right) / (1/\lambda^\gamma) = (\Gamma(\gamma + 1))^{-1} s^\gamma$$

for all  $\lambda > 0$ , clearly condition (C1) also holds for all  $s_0 > 0$ . For the case  $\gamma = 0$ , let  $\mu$  be the Dirac measure at 0, which is the measure such that  $\mu(\{0\}) = 1$  and  $\mu(0, \infty) = 0$ . Then  $\int_0^\infty e^{-\lambda t} d\mu(t) = e^{-\lambda 0} = 1$  for all  $\lambda > 0$  and  $\mu[0, t] = 1$  for all  $t > 0$ . Clearly both conditions (C1) and (C2) hold. Thus the assertion follows from Theorem 3.2. □

Now we deduce from Theorem 3.4 the following generalized Tauberian theorem for positive sequences.

**Theorem 4.2.** *Let  $\gamma \geq 0$  and let  $\{x_n\} \subset X_+$  be a sequence of positive elements in a Banach lattice  $X$  such that  $\sum_{n=0}^\infty r^n x_n$  exists for all  $0 < r < 1$ . Then  $x =$*

$$\lim_{r \uparrow 1} (1-r)^\gamma \sum_{n=0}^\infty r^n x_n \text{ exists if and only if } x = \lim_{n \rightarrow \infty} \frac{\Gamma(\gamma+1)}{(n+1)^\gamma} \sum_{k=0}^n x_k.$$

*Proof.* For the case  $\gamma = 0$ , we can take  $a_0 = 1$  and  $a_n = 0$  for all  $n = 1, 2, \dots$ . Then  $\sum_{k=0}^\infty r^k a_n = \sum_{k=0}^n a_k = 1$  for all  $n = 0, 1, 2, \dots$ . Hence both (D1) and (D2) are satisfied and Theorem 3.4 applies.

For the case  $\gamma > 0$ , we can take  $a_n := \binom{-\gamma}{n} (-1)^n$ . Then  $\sum_{n=0}^\infty r^n a_n = (1-r)^{-\gamma}$  for  $0 < r < 1$  and  $\sum_{k=0}^n a_k = \sum_{k=0}^n \binom{-\gamma}{k} (-1)^k = \sum_{k=0}^n \binom{k+\gamma-1}{k} = \binom{n+\gamma}{n} = \frac{\Gamma(n+\gamma+1)}{\Gamma(\gamma+1)\Gamma(n+1)}$ .

By Stirling’s formula:  $\lim_{t \rightarrow \infty} \Gamma(t + 1) / ((\frac{t}{e})^t \sqrt{2\pi t}) = 1$  (see [7, p. 194]) and the fact that  $\lim_{r \uparrow 1} (\ln r) / (r - 1) = 1$ , we have

$$\begin{aligned} & \left( \frac{\Gamma([\frac{-s}{\ln r}] + \gamma + 1)}{\Gamma(\gamma + 1)\Gamma([\frac{-s}{\ln r}] + 1)} \right) / \left( \frac{1}{(1 - r)^\gamma} \right) = \frac{\Gamma([\frac{-s}{\ln r}] + \gamma + 1)(1 - r)^\gamma}{\Gamma(\gamma + 1)\Gamma([\frac{-s}{\ln r}] + 1)} \\ & \sim \frac{1}{\Gamma(\gamma + 1)} \frac{\left(\frac{[\frac{-s}{\ln r}] + \gamma}{e}\right)^{[\frac{-s}{\ln r}] + \gamma} \sqrt{2\pi([\frac{-s}{\ln r}] + \gamma)}}{\left(\frac{[\frac{-s}{\ln r}]}{e}\right)^{[\frac{-s}{\ln r}]} \sqrt{2\pi[\frac{-s}{\ln r}]}} (1 - r)^\gamma \\ & = \frac{1}{\Gamma(\gamma + 1)} \left(\frac{[\frac{-s}{\ln r}] + \gamma}{[\frac{-s}{\ln r}]}\right)^{[\frac{-s}{\ln r}] + 1/2} e^{-\gamma} \left(\left(\left[\frac{-s}{\ln r}\right] + \gamma\right) (1 - r)\right)^\gamma \\ & \sim \frac{1}{\Gamma(\gamma + 1)} \left(\left(\left[\frac{-s}{r - 1}\right] + \gamma\right) (1 - r)\right)^\gamma \rightarrow \frac{s^\gamma}{\Gamma(\gamma + 1)} \end{aligned}$$

as  $r \uparrow 1$ . Here  $a(r) \sim b(r)$  as  $r \uparrow 1$  means that the ratios  $a(r)/b(r)$  and  $b(r)/a(r)$  are both bounded in some interval  $(\delta, 1)$ . This implies that (D1) holds for all  $s_0 > 0$ .

Next we check (D2). In fact, we have

$$\begin{aligned} & \lim_{m, n \rightarrow \infty} \left( \frac{\Gamma(m + \gamma + 1)}{\Gamma(\gamma + 1)\Gamma(m + 1)} \right) / \left( \frac{\Gamma(n + \gamma + 1)}{\Gamma(\gamma + 1)\Gamma(n + 1)} \right) \\ & = \lim_{m, n \rightarrow \infty} \left( \frac{(\frac{m + \gamma}{e})^{m + \gamma} \sqrt{2\pi(m + \gamma)}}{(\frac{m}{e})^m \sqrt{2\pi m}} \right) / \left( \frac{(\frac{n + \gamma}{e})^{n + \gamma} \sqrt{2\pi(n + \gamma)}}{(\frac{n}{e})^n \sqrt{2\pi n}} \right) \\ & = \lim_{m, n \rightarrow \infty} \left[ \left(\frac{m + \gamma}{m}\right)^{m + 1/2} / \left(\frac{n + \gamma}{n}\right)^{n + 1/2} \right] \left(\frac{m + \gamma}{n + \gamma}\right)^\gamma \\ & = \lim_{m, n \rightarrow \infty} \left(\frac{m + \gamma}{n + \gamma}\right)^\gamma, \end{aligned}$$

which is equal to 1 if  $m/n \rightarrow 1$ .

Thus Theorem 3.4 applies. Since

$$\begin{aligned} & \lim_{n \rightarrow \infty} \left( \frac{\Gamma(n + \gamma + 1)}{\Gamma(\gamma + 1)\Gamma(n + 1)} \right) / \left( \frac{(n + 1)^\gamma}{\Gamma(\gamma + 1)} \right) = \lim_{n \rightarrow \infty} \frac{\Gamma(n + \gamma + 1)}{\Gamma(n + 1)(n + 1)^\gamma} \\ & = \lim_{n \rightarrow \infty} \frac{(\frac{n + \gamma}{e})^{n + \gamma} \sqrt{2\pi(n + \gamma)}}{(\frac{n}{e})^n \sqrt{2\pi n} (n + 1)^\gamma} \\ & = \lim_{n \rightarrow \infty} \left(\frac{n + \gamma}{n}\right)^{n + 1/2} e^{-\gamma} \left(\frac{n + \gamma}{n + 1}\right)^\gamma = 1, \end{aligned}$$

the conclusion of Theorem 3.4 reduces to the assertion. □

*Remark.* In the above, we deduce Theorems 4.1 and 4.2 from Theorems 3.2 and 3.4, respectively, and the latter are deduced from Proposition 1.1 and Proposition 3.1, which in turn follow from Corollary 2.3. One can also deduce Theorems 4.1 and 4.2 more directly from Corollary 2.2. We refer to [6, Propositions 4.2 and 4.4] for such different approaches.

### 5. Counter-examples

In this section, we show by examples that the assumption of positivity of the sequence  $\{x_n\}$  and conditions (D1) and (D2) are essential in Theorem 3.4.

*Example 2.* Let  $a_0 = 1$  and  $a_n = n^{-1} - (n + 1)^{-1}$  for  $n \geq 1$ . Since  $\sum_{k=0}^{\infty} a_k = 2 < \infty$ , (D1) and (D2) hold automatically (see Remark (ii) after Theorem 3.4).

Thus we can apply Theorem 3.4 to this sequence  $\{a_n\}$ , and we have that for any positive sequence  $\{x_n\}$  in a Banach lattice,  $x = \lim_{r \uparrow 1} \sum_{n=0}^{\infty} r^n x_n$  exists if and only

if  $x = \lim_{n \rightarrow \infty} \sum_{k=0}^n x_k$ . This is also the case  $\gamma = 0$  of Theorem 4.2.

But, if we let  $b_n = (-e^{i\theta})^n$  for  $n \geq 0$ , where  $i = \sqrt{-1}$  and  $\theta \neq \pi \pmod{2\pi}$ , then  $\sum_{k=0}^n b_k = \frac{1 - (-e^{i\theta})^{n+1}}{1 + e^{i\theta}}$ . While

$$\lim_{r \uparrow 1} \frac{\sum_{n=0}^{\infty} r^n b_n}{\sum_{n=0}^{\infty} r^n a_n} = \lim_{r \uparrow 1} \frac{1}{2} \sum_{n=0}^{\infty} r^n (-e^{i\theta})^n = \lim_{r \uparrow 1} \frac{1}{2(1 + r e^{i\theta})} = \frac{1}{2(1 + e^{i\theta})},$$

$\lim_{n \rightarrow \infty} \left( \sum_{k=0}^n b_k \right) / \left( \sum_{k=0}^n a_k \right)$  does not exist. This sequence  $\{b_n\}$  is bounded but not positive and  $\sup_{n \geq 0} |b_n|/a_n = \infty$ , so this shows that the assertion in Theorem 3.4 (resp. Remark (i) after Theorem 3.4) may fail if  $\{x_n\}$  is not a positive sequence (resp.  $\sup_{n \geq 0} \|x_n\|/a_n = \infty$ ).

*Example 3.* Let  $\{a_n\}$  be a sequence of numbers with  $\limsup_{n \rightarrow \infty} |a_n|^{1/n} \leq 1$ , and let  $b_0 = 0$  and  $b_n = a_{n-1}$  for all  $n \geq 1$ . Then we have for every  $0 < r < 1$

$$\sum_{n=0}^{\infty} r^n a_n = r^{-1} \sum_{n=1}^{\infty} r^n b_n = r^{-1} \sum_{n=0}^{\infty} r^n b_n.$$

Hence

$$\frac{\sum_{n=0}^{\infty} r^n b_n}{\sum_{n=0}^{\infty} r^n a_n} = r \rightarrow 1 \text{ as } r \rightarrow 1.$$

If we define  $a_n := \begin{cases} n & \text{if } n = 2^k \text{ for some } k = 0, 1, \dots; \\ 0 & \text{otherwise,} \end{cases}$  then both  $\{a_n\}$  and  $\{b_n\}$  are positive sequences, and for every  $k = 0, 1, 2, \dots$

$$\sum_{j=0}^{2^k} b_j = \sum_{j=0}^{2^k-1} a_j = \sum_{j=0}^{k-1} 2^j = 2^k - 1,$$

$$\sum_{j=0}^{2^k+1} b_j = \sum_{j=0}^{2^k} a_j = \sum_{j=0}^k 2^j = 2^{k+1} - 1,$$

and

$$\sum_{j=0}^{2^k+1} a_j = \sum_{j=0}^{2^k-1} a_j + a_{2^k} + a_{2^k+1} = 2^k - 1 + 2^k = 2^{k+1} - 1.$$

Hence

$$\frac{\sum_{j=0}^n b_j}{\sum_{j=0}^n a_j} = \begin{cases} \frac{2^k-1}{2^{k+1}-1} & \text{if } n = 2^k; \\ 1 & \text{if } n = 2^k + 1. \end{cases}$$

Thus the limit does not exist as  $n \rightarrow \infty$ . In the following we check that (D1) holds but (D2) does not.

Letting  $S(r) = \sum_{n=0}^{\infty} 2^n r^{2^n} = r + 2r^2 + 4r^4 + \dots$  for  $0 < r < 1$ , we have

$$\frac{r}{1-r} = r + (r^2 + r^3) + (r^4 + \dots + r^7) + \dots < S(r),$$

and

$$\begin{aligned} S(r) &< r + 2\{r^2 + (r^3 + r^4) + (r^5 + \dots + r^8) + \dots\} \\ &= \frac{r}{1-r} + \frac{r^2}{1-r} = \frac{r(1+r)}{1-r}, \end{aligned}$$

so that  $S(r) \sim (1-r)^{-1}$  as  $r \uparrow 1$ .

On the other hand, since  $\lim_{r \uparrow 1} (\ln r)/(r-1) = 1$ , we have

$$2^{\lfloor \ln(\frac{-s}{\ln r}) / \ln 2 \rfloor + 1} \sim 2^{\ln(\frac{-s}{\ln r}) / \ln 2} = (2^{1/\ln 2})^{\ln(\frac{-s}{\ln r})} = \frac{-s}{\ln r} \sim \frac{s}{1-r} \text{ as } r \uparrow 1.$$

Therefore we have for every  $s > 0$

$$\begin{aligned} &\left( \sum_{n=0}^{\lfloor -s/\ln r \rfloor} a_n \right) / \left( \sum_{n=0}^{\infty} r^n a_n \right) = \left( \sum_{1 \leq 2^k \leq -s/\ln r} a_{2^k} \right) / \left( \sum_{n=0}^{\infty} r^n a_n \right) \\ &= \left( \sum_{k=0}^{m-1} 2^k \right) / \left( \sum_{n=0}^{\infty} 2^n r^{2^n} \right) = (2^m - 1) / \left( \sum_{n=0}^{\infty} 2^n r^{2^n} \right) \\ &\sim \frac{s}{1-r} / \frac{1}{1-r} = s \end{aligned}$$

as  $r \uparrow 1$ , where  $m := [\ln(-s/\ln r)/\ln(2)] + 1$ . This implies that (D1) holds for all  $s_0 > 0$ .

If  $m = 2^k$  and  $n = 2^k - 1$ , then  $m/n \rightarrow 1$  as  $k \rightarrow \infty$ , but we have that

$$\left( \sum_{k=0}^m a_k \right) / \left( \sum_{k=0}^n a_k \right) = \frac{2^{k+1} - 1}{2^k - 1} \rightarrow 2.$$

Hence condition (D2) of Theorem 3.4 is not satisfied. This example shows that Theorem 3.4 may fail if condition (D2) is not satisfied.

## References

- [1] A. Brunel, M. Keane, Ergodic theorems for operator sequences, *Z. Wahrscheinlichkeitstheorie und Verw. Gebiete* **12** (1969), 231–240.
- [2] R. Emilion, Mean-bounded operators and mean ergodic theorems, *J. Funct. Anal.* **61** (1985), 1–14.
- [3] E. Hille, R.S. Phillips, *Functional Analysis and Semigroups*, Amer. Math. Soc. Colloq. Publ., vol. 31, Amer. Math. Soc., Providence, R. I., 1957.
- [4] L. K. Jones, M. Lin, Ergodic theorems of weak mixing type, *Proc. Amer. Math. Soc.* **57** (1976), 50–52.
- [5] U. Krengel, *Ergodic Theorems*, Walter de Gruyter, Berlin-New York, 1985.
- [6] Y.-C. Li, R. Sato, S.-Y. Shaw, Convergence theorems and Tauberian theorems for functions and sequences in Banach spaces and Banach lattices, *Israel J. Math.*, in press.
- [7] W. Rudin, *Principles of Mathematical Analysis*, 3rd Edition, McGraw-Hill, Inc., New York, 1976.
- [8] R. Sato, Ratio limit theorems and applications to ergodic theory, *Studia Math.* **66** (1980), 237–245.

Yuan-Chuan Li

Department of Applied Mathematics

National Chung-Hsing University

Taichung, 402

Taiwan

e-mail: [ycli@amath.nchu.edu.tw](mailto:ycli@amath.nchu.edu.tw)

Ryotaro Sato

Department of Mathematics

Okayama University

Okayama, 700-8530

Japan

e-mail: [satoryot@math.okayama-u.ac.jp](mailto:satoryot@math.okayama-u.ac.jp)

*Present address:* Ryotaro Sato

19-18 Higashi-Hongo 2-chome

Midori-ku Yokohama, 226-0002

Japan

Sen-Yen Shaw  
Graduate School of Engineering  
Lunghwa University of Science and Technology  
Taoyuan, 333  
Taiwan  
e-mail: [shaw@math.ncu.edu.tw](mailto:shaw@math.ncu.edu.tw)

Received 4 December 2006; accepted 6 February 2007

---

To access this journal online:  
[www.birkhauser.ch/pos](http://www.birkhauser.ch/pos)

---